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6.3.2 BIXEEERORERE
1. ERET&M
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FiE : L=17.0m, % : t =9mm(EF& L 5= 1 mm)
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PRI E
xRl SRR £ : = i
R MR
BRAZIENYAlES N/mm2 140 210
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(6) B LU ~UL 1 HIEREOZBEH S
#4-6.3.3 12, WREB IO LUV 1 HEERHC ST 2 R F i OER 2773,
%-6.3.3 ERTEPLZHS TSR

EERE \fﬁﬁi K- T—AL b

o (kN) Ho (kN) Mo, (kKN -m)

FefaiEERy (P /) MEL) 9,478.0 -1,288.7 -1,105.7
SEAERE (A D) 8,714.9 -1,207.8 -855.0
woORE (L) (a) 10,822.3 -1,460.5 -1,835.4
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2. BIEERERORERR
#-6.3.4 BISBEERORERERR

BEfRT R WO L~UL 1 HiERE
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Vo kN 9478.0 10598.3 9299.3
Ho kN -1288.7 -1460.5 -5017.8
Mo kN-m -1105.7 -2059.4 -15082.7
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6 x mm -5.40 -6.50 -17.64
5z mm 6.01 6.72 5.90

o rad -0.00096879 -0.00135745 -0.00660238
6f, ba mm 540 < 15.00 6.50 < 15.00 1764 < 15.00
SRIELR )

PNmax, Ra kN 813.36=1439.00 953.94=< 1439.00 1593.54=< 2148.00
PNmin, Pa kN 502.91=  0.00 528.22=  0.00 -312.90= -505.00
KT

PH kN -92.05 -104.32 -358.41
WifEFT—A > b

FBE Mt kN-m 91.47 95.05 84.29
HiPE Mm | kN-m -90.24 -102.27 -287.70
TNLNTIVA)S
| oc oca | Nmm? -97.23= -140.00 -111.72= -210.00 -240.77< -210.00
Bl ot ota N/mm2 7.05< 140.00 9.22<  210.00 152.24< 210.00
Ll ¢, ta N/mm? 6.208< 80.000 7.035< 120.000 24.171= 120.000
HE OK OK ouT
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(3) LU L~UL 1 HIEBREORES )
TR O AT IIBERSEATE, FRRRS L OMIERR & 375, £-6.3.9 (CBEZRER Fifi P It A1
Mhzrd, W, BEBFEEEHRRL BEOATAHET 560 L L GGHREEZTT I,

%-6.3.9 BEMEIRTEHLICHITHERS

e e PR fnf B IRV ER F—A b
o] ELHRAE
Vo (kN) Ho &N) Mo (kN-m)
BERR AL 9,215.9 -1,288.7 -712.6
WoORF BAHEL) (2) 11,530.2 -1,460.5 -3,546.8
WoORF BHEL) B) 11,474.2 -1,460.5 -3,560.8
WoORE FEHEL) (0 11,306.2 -1,460.5 -3,770.8
wWoORF FHAY) (a) 10,540.3 -1,599.1 -2,882.9
wWoORF A Y) B 10,484.3 -1,599.1 -2,896.9
WO FEAY) (© 10,316.3 -1,599.1 -3,106.9
HERE (/7 L) 10,007.2 -5,209.8 -17,019.0
HERE (F/1H D) 8,963.2 -5,347.9 -16,465.1
4, HEREBORTERELR
£-6.3.10 TEEERER
BE R OMC BB OM
R AR WO HuzEm HOW HuzEm
JEAER )
Vo kN 9215.9 11306.2 10007.2 11306.2 10007.2
Ho kN -1288.7 -1460.5 -5209.8 -1460.5 -5209.8
Mo kN-m -712.6 -3770.8 -17019.0 -3770.8 -17019.0
ST
0x mm -5.21 -6.35 -14.91 -6.28 -14.91
0z mm 5.85 6.03 3.42 6.15 3.42
o rad -0.00084228 -0.00109066 -0.00372947 -0.00103736 -0.00372947
0f, da mm 5.21 = 15.00 6.35 = 15.00 1491 = 15.00 1.14 = 15.00 9.70 = 15.00
LA
PNmax, Ra kN 776.83=1560.00| 881.08=1560.00| 897.36=2329.00| 136.41= 524.00 577.65= 787.00
PNmin, Pa kN 539.73= 0.00| 525.33= 0.00| -195.25=-628.00 | 99.51= 0.00 543.46=-450.00
KT
PH kN -92.05 -110.18 -324.31 -7.31 -100.95
HilEfE—A 2 -
WEE Mt kN-m 97.29 115.60 227.84 4.64 50.09
HifER Mm kN-m -90.24 -108.36 -282.23 -3.26 -36.26
WIS 1
n oc, oca N/mm? -97.47=-140.00 -110.22=-140.00| -188.40=-210.00 | -27.93=-230.00 | -224.78=-345.00
e ot, ota N/mm?2 8.68=140.00 16.68=140.00 143.93=210.00 -0.64= 230.00 70.07=345.00
T, ta N/mm? 6.208=80.000 7.454=<80.000 22.473=120.00 1.041=130.00 14.369=195.00
HoE OK OK OK OK OK
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2. EEEMSNAEE
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(3) B L ONL~UL 1 HIEBREOZREH S
F-6.4.6 12, WHFB XL~V 1 HIEERH R A M R D oER 27~ T,

#x-6.4.6 ERTEHOLIZEITLERA

EERE \fﬁﬁi IRV B T—AL b

o (kN) Ho (kN) Mo, (kKN -m)

FefaiEERy (P /) MEL) 1,937.4 -111.8 -729.9
SEAERE (A D) 1,814.4 -133.7 -737.9
WO L) () 2,776.7 -158.9 -1,136.8
wORE @hOmL) O) 2,745.7 -158.9 -1,144.6
wOR EY) @ 2,653.7 -180.8 -1,144.9
w Ok GEAEY) (b 2,622.7 -180.8 -1,152.6
LoyL 1 HIGRRE ()8 L) 1,917.7 -1,022.3 -1,624.2
LoyL 1 HGERE (2 0H D) 1,796.2 -1,040.0 -1,630.1

3. BEEROBEMRR

x-6.4.7 EREOZERERR

BEARTERINE woOIRE LU 1 B
JFRVER T
Vo kN 1814.4 2622.7 1796.2
Ho kN -133.7 -180.8 -1040.0
Mo kN-m -737.9 -1152.6 -1630.1
JFSISNL
0x mm -4.14 -5.95 -14.63
5z mm 1.47 2.11 1.46
o rad -0.00228542 -0.00350602 -0.00622645
5f, da mm 414 < 15.00 595 < 15.00 14.63 = 15.00
RIS
PNmax, Ra kN 339.39< 727.00 502.24=< 727.00 598.17= 1090.00
PNmin, Pa kN 31.10=  0.00 31.10=  0.00 -229.98> -652.00
KT
PH kN -11.18 -18.08 -104.00
WEHE—A Y R
HigE Mt kN‘m 0.16 -1.49 41.79
M Mm | kN+em -6.22 -9.88 -47.75
IKENTYA)i S
| ococa N/mm? -66.60= -230.00 -99.76= -230.00 -224.40= -345.00
pi| ot ota | N/mm? 11.45< 230.00 24.58< 230.00 173.27= 345.00
T, ta N/mm? 1.591= 130.000 2.573= 130.000 14.803= 195.000
HE OK OK OK
(&S] 1) BARERHS

2) AAEEKHS

CEWET WERETHEEE, 1999.
EERER T E - A IV N ERSEE, 2002.
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